Mabnuatika A’ Tvpvaciov A.7.6: Awxipeon Pntwv

AIAIPEZH PHTQN APIOGMQN

OEQPIA:

Ma vo Stapécoupe 5U0 opdoNHoUC PNTOUS 0PLOUOUC SLaPOUHE TLC ATOAUTEC TULEC LEEEJ:

TOUG Kal oTo TtnAiko Baloupe to +.

NAPAAEITMA 1

(+6):(+3) = +2

(-6):(-3) = +2

OEQPIA:

MNna va Statpéooupe SU0 ETEPOCNUOUG PNTOUG APLOUOUC SLALPOUHE TIG OMOAUTEC

TLUEG TOUG KoL oto TinAiko Baloupe To =.

NAPAAEITMA 1

(+) : (+) = (+)
(-6):(+3) =-2 (-):(-)=(+)
(+):()=()
(+6):(-3) = -2 (-):(+)=(-)
ASKHSH 1
Na KAVETE TIG MPALELC:
> (+10):(+5) = > (+12):(+4) =
> (-7):(+7) = > (+21):(+7) =
> (-10):(-2) = > (+50):(-10) =
> (-9):(+3) = > (-16):(+4) =
> (+6):(-3) = > (-8):(-4) =
> (+20):(+10) = > (-36):(-6) =
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